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Let                        . What is the product of

A with the third column of C?
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Let                         . What is AB equal to?
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Let                         . What is BA equal to?
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Are the rows of the following matrix linearly independent?
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Do the following vectors make a basis for 2?
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Which of the following sets of vectors is a basis of 3?
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What is the rank of the following matrix?
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Does the transpose of a matrix A have the same rank as A?
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Is the determinant of the following matrix equal to 0?
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Is the determinant of the following matrix equal to 0?
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Is the determinant of the following matrix equal to 0?
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What is the inverse of the following matrix?
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Does the following system of equations have a unique 
solution?
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Is the following system consistent?
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Does the following system of equations have a unique 
solution?

 Y
es N

o

0%0%

1. Yes

2. No

01284

01173

01062

095

4321

4321

4321

4321

xxxx

xxxx

xxxx

xxxx

0 of 5
10

What are the eigenvalues of the following matrix?
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What are the eigenvalues of the following matrix?
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What are the eigenvalues of the following matrix?

 -2
, 3

, 4

 3
, 3

, 4

 3
, 4

, 4

-3
, -

3,
-4

0% 0%0%0%

211

141

114

10
0 of 5

1. -2, 3, 4

2. 3, 3, 4

3. 3, 4, 4

4. -3, -3, -4



What is the algebraic multiplicity of the eigenvalue = 3 of 
the following matrix?
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Which set of vectors consists of eigenvectors of the 
following matrix?
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What is the geometric multiplicity of the eigenvalue = 3 of 
the following matrix?
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What is the algebraic multiplicity of the eigenvalue = 4 of 
the following matrix?
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What is the geometric multiplicity of the eigenvalue = 4 of 
the following matrix?
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What are the eigenvalues of the following matrix?
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What is the algebraic multiplicity of the eigenvalue = 0 of 
the following matrix?
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What is the geometric multiplicity of the eigenvalue = 0 of 
the following matrix?
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